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(1 1II I I11 v

(2) I II I11 v

3 IV III I 11

4 Hm IV II I

Match the following Mahajanapadas with their modern names :

a. Anga 1. South Bihar -

b. Magadha II.  East Bihar

c. Vajji III. North Bihar

d. Malla IV. Gorakhpur district

a b c d

1) H I 111 v

(2) I II i v

@ IV I I I

(4) 1II | v I I
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(1) III I v I
(2 1II 1T I v
3 Iv II IT1 I
4y 1 v II 111
Match the following explorers of Sindhu civilization with cities discovered by them :
a. Harappa L Rakhaldas Banerji -
b. Mohenjodaro II. Ranganath Rao
¢. Chanhudaro III. Dayaram Sahni
d. Lothal IV.  Gopal Majumdar
a b c d
(1) III I v IT
(2) 1I 111 1 v
3 Iv II 11 I
4) I v II II1

3. mﬁaﬁﬁﬁwg@sﬁqwﬁwﬂaa&rmﬁwmﬁmm?
(1) e
(2) "HerE
(3) femivmse
(4) frere
Which of the following soft stones was used to make the seals in Sindhu civilization ?
(1) .Haematite
(2) Magnetite
(3) Limonite
(4) Steatite
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4,  TEOMYS T E TR ATAT S T4

A HEA I fafemm
9. WM II.  wed
% a@ I wfm
T R IV, I
A q k3 s
(1 1 III I1 v
(2) III I AY II
3) IV I I II
4 II IIT I v
| Match the Mahajanapadas and their kings :
a. Kosal I. Bimbisar
b. Magadha II. Pradyot
c. Vatsa III. Prasenjit
~d.  Avanti IV. Udyan
a b [ d
(1 1 II1 II JAY
(2). III I A" I
3 1Iv I I11 I1
4 I - 111 I v

5.  WEh BV NG TUT YT TESHST IgE Aeesdl ?
(1) AR FFr '
(2) weREaEd
(3) Hfewre
@ o frem
Which of the following Buddhist texts refer to the sixteen Mahajanapadas ?
(1) Anguttar Nikaya
(2) Pradnyaparmitasutra
(8) Nitishastra
(4) Dirgha Nikaya
FTEUT FHTHIH SN | SPACE FOR ROUGH WORK P.T.O.
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R, drae e

. aFgHR

®. saAmetfee

5. fraamferm

(1) ®ad A, § & (2) W H, F MO E
(3) wed F T & (4) A, T, FAME
State who amongst the following were the poets of the Sangama literature.
a. Tolaka Pear

b. Valluvar

c. Elangoadigal

d. Sittalaisittanur

(1) Onlya,bandec (2) Onlybh, candd
(3) Onlyaandec _ (4) a,b,candd

7.

Grefid faaoraed = staar.

H. TP TeH dfsd, aiE wrvETe fesmoEn @i

. aeSifH quEsd ggm.

F. WA Fo A9 gTvEr s st ge el

3. favar gfammrd wehe wiiy 3 e SR e

(1) %EEg 8

(2) Gty Sl

(3) ¥varag femm@mR

(4) = TR

Identify the person from the description given below.

a. A great scholar of Sanskrit, yet accepted the western thoughts.
b. Participation in the Tatwabodhini Sabha.

c.  Started teaching western education in Sanskrit College.

d. Gave evidence from the ancient religious books for the widow remarriage.
(1) Keshavchandra Sen

(2) Surendranath Baneni

(3) Ishwarchandra Vidyasagar

(4) Justice Ranade
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(2)
(3)
(4)

A 7. Wos
Tt fyEtmas =t eEr.
A, ‘f%@'ﬁlﬂaﬂ fam= amten o’ &1 $oeTRen R,
T 1864 T I TS SomEdE wmgEr S A
®.  Hoa Tgamw e @ e ToEd.
g o Hielea sien-afEes Thed s el
(1) <R qewg areft fran
(2) R HZAG ITEHE WH
(3) et gEmg gt
(4) wgEA Tegest
Identify the person from the following description.
a. He was awarded the “Third Class of the Star of India reward by British.
b. He had established the Translation Society in 1864.
¢.  He opposed the nationalism of Congress.
d. He established the Mohammedan Anglo-Oﬂentél School.
(1) Barrister Muhammad Ali Jinnah
(2) Sir Sayyed Ahmed Khan
(3) Poet Muhammad Igbal
- (4) Badruddin Tayyabji
9. ?mﬁwmm@mﬁmmwmﬁm

g™ TR
gy TR
S
faemudt IR
of Mithila was a Bengali poet who enjoyed the patronage of a Hindu ruler

as well as of the Sultans of Bengal.

(1)
(2)
(3)
(4)

Devendranath Tagore
Ravindranath Tagore
Chandidas

Vidyapati Thakur
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10. Ofewa SERYT Sead! avd Tde favre SoR/ed furfaas svEt Gty ?

(1)

(2)

(3)
(4)

W Fegd THER @H A A W AR EaaHE due R g g o i
g9 Afeas AP G& hefl, W F T 20 3 & e .

rmetest uoft e e 13 = 9l 92 qERe R 15 it swrawr e
WiTet. |

HfeTa FEN TBISS FAE G 1921-22 Va1 € Ao fyunma s@eH Sl 2.

Which of the following statements about Civil Disobedience Movement is/are not
true ?

(1)

(2)

(3)

4)

The Red Shirt volunteers, organised by Khan Abdul Ghaffar Khan followed in a
non-violent manner, an intense anti-government movement including
non-payment of taxes. ' ‘

Rani Gaidinliu of Nagaland at the age of 13, raised the banner of revolt and
suffered 15 years of imprisonment.

Due to the Civil Disobedience Movement, the Congress organisation was
stronger in villages than in 1921-22.

The business community supported the Government.

11I
(1

@)

(3)
(4)

g1 T Sdfie vae wae ueY TIE ! U G e e Bied.

Hrerr g8 ET
W g
AR Il @

Fh 3w @@=

Almost all the leadmg personalities of the country except joined the
Congress.

(1)
(2)
(3)
(4)

Maulana Husain Ahmad
Sir Sayyed

Zafar Ali Khan

Hakim Ajmal Khan
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12. @R T FHET ghea dme Tia Soredr efia SUatETEd S @ o 2

. WRAR TwEATe Eris Wil Fvarardt Tae wEeE) T w0,

4.  9Wa afuash andy afief © so

F. AU TS S RO,

S % A9 THMS TR 3T S YRAE 1S Teedn fafernons iy .
(1) %A , ©(2) W w g

(3) «,9 %onforg " (4 wEE

Which of the following is/are included in the resolutions passed by the Indian
National Congress in its first session ?

a. Appointment of a Royal Commission to inquire into the working of the Indian
administration.

b.  Abolition of the Indian Council of the Secretary of State for India.
c.  Reduction of military expenditure.
d.  Protest against the annexation of Upper Burma and the proposed incorporation

of it with India.
(1) Omlya (2) Onlycandd
(3) a,b,candd ~(4) Onlyb
13,  SIeen |4
A gIRq I e
,  qagn II. 7@
*.  difere IIl. g
3. ST A% e st v. afda
| g & T
(1) T II II1 v
(2) IV II I I
3 I I ITI v
(4) 1III II I v
Match the following : : '
a. ' Dhumketu I.  Kolkata
b. Navayuga II. Guntur
c. Socialist III. Mumbai
d. Vanguard of Indian Independence ~ IV. Berlin
a b (v d
1) I I ITI v
2 1Iv I H i I
(3) I1I I III v
4y III II I v
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(1) ===

(2) AR

(3) =S4

(4) i

Gadge Maharaj used , a traditional medium of mass communication for

propagating against some of the evil social customs.

(1) Aakhyan

(2) Aarti

(3) Katha

(4) Kirtan

15. G aend @relt i S aue Fe R ?
A e MR EAET AWE WA gu 3T, B o el B,
Rag Rrem=rea ywEge oo Mgeme, amfyes guwons S Irfas wRaadR qEe
Fasat

i) fvan TN S ss i e st o sy e ot Rt e,
(1) T HERA

(2) TR IIgT TGS

(3) <difan gt

(4) ARE T8

Who is the person described in the following sentences ?

He had learnt the principle of universal equality of man while at the Scottish
Mission School.

Under the influence of the Christian missionaries he realized the importance of
education, social reforms and universal humanism.

He openly supported widow remarriage and attacked the practice of female
infanticide.

(1) Durgaram Mancharam

(2) DadobaPandurang Tarkhadkar
(3) Jyotiba Phule

(4) Narayan Guru
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A IRAIA B . I vt afemewr

9, A : I SrgEdl aiteesa

®.  SEteH III. o= gftEesn

3. 9 I IV. TE0 aiEea
H q 3 T

1) I II III IV

(2) III I v I

3) Iv I II1 II

4 I - III AY I

Match the following : :
Philosopher Hypothesis about origin of the Earth

a. Immanuel Kant I. Tidal

b. Laplace ‘ II. Gaseous

¢. Chamberlin IT1. Nebular

d. JamesJeans IV. Planetesimal
a b c d

(1) I II III Iv

(2 Hmr I v I

3y IV I il II

4) II I v I

17.  gedfiem ST weHt Wiefedsh S faum stet o 2
(1) GieigEr auA $H 8.
2) Erigar = F4 g
(3) WEiFER aHEE aTE 8.
(4) FETA WIAHER g& GHF TG,

Which of the following statements is correct about the interior of the Earth ?
(1) The temperature falls with increasing depth.

(2) The pressure falls with increasing depth.

(3) The temperature rises with increasing depth.

(4) Pressure remains constant with varying depth.
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18, Wifgyad eoa Ieafia s I TEUTET.
(1) 3ga | (2) I I
(3) aTSdwad (4) HE"T

The hedt released at the time of condensation is called as

(1) Humidity
(3) Evaporation

(2) Latent heat
(4) Sublimaticn

19. S go T

#q
N, F@q @I
4. 3wl I A
®. Teger o= fea
g. ¥R HUW

H od
(1) I v
@ m 1
(3) III I

4) 1I v

~Match the following :

Feature / Climate
a. Vernal Equinox
b. Summer Solstice

c. Winter Solstice

d. Autumnal Equinox

a b
(1 III v
(2) I I
(3) III I
4y II v

c
I
II
v
|

T
I fedaw 22
II. ¥ e 23
III. = 21
V. 921
-
i
vV
I
II1

Date

I. December 22

II. September 23
III. March 21
IV. June2l

d

I

v

II

11
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(1)

2)

(3)
(4)

¥,

QmdlT

S

111

&. gWA g =i

Match the four local winds marked as (D), @), @), (@ in the following map :

a.

(1)
(2)
(3
(4)

Sirocco

b.

Khamsin

111

II

c.  Harmattan

d. Berg

AT HTATATS! SIBT / SPACE FOR ROUGH WORK

PTO.



wos

21.

14

w1 feepmoft yhurht i € T fesmme % weuE ?
(1)  yogers fag

@) A

(3) e fog

(4) g AT F

The point of origin of an earthquake is known as
(1) Tectonic point
(2) Seismic focus

(3) Plutonic point

(4) Epicentre

22,

s T T .

(1) dafem

(2) e @

(3) offgaties agg

(4) IeTHRH

Bora winds blow in region.
(1) Siberia

(2) Sahara Desert

(3) Adriatic Sea

(4) Antarctica

23.

IR S T6ia Boarsar Had A,
(1) wawaa

(2) ol

(3) «mdIve

(4) «ToNTEET

The process of conversion of water vapour into ice is known as

(1) Sublimation

(2) Condensation
(3) Evaporation

(4) Evapotranspiration
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Match the following :
River Source
a. Penganga I.  Gomantak Peak
b. Krishna II. Budhana range
¢. Tungabhadra III. Brahmgiri
d. Cauvery V. Mahabaleshwar
a b c d
() W I I 11
(2) 1 IV 1 IT1
3) U v I 1
@ ou m 1 v
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(1) I 1
(2) I v
3) III v
4) IV 111
Mat(fh the following :
Channel
a. 10 Degree
b. 8 Degree
¢. 9 Degree
d. Duncan Passage

1
©)
@)
4@

I11
II1
II1
v

b
II
v
v
m

2 8

11

o]

I
I
I

IL

ITL

II
I1

I

I11.

I
11

16

HEH SIEHR Hiew W v e sw@
HdHfieta sade o faem s
A Freiem e faem
it wiede T faam @

Location
Separates Little Andaman
from Greater Andaman

Separates Minicoy from main Lakshadweep
Separates Andaman from Nicobar

Separates Minicoy from Maldives
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(1) I Ii
2 I III
@) I I
4) HI I
Mafch the following :
Islands
a. Salsette
b.  Sriharikota -
c. We]]ingtén
d. Wheeler
a b
() I H
2 I I11
(3) I I
4) III I

11

I.

11
III.
Iv.

II.

IIL

17

Tohe S e
fieméa Sawar fawm
A S qYE

e wHS

II

II

Characteristics

Rocket launching site
Missile launching centre
G_roﬁp of seven islands

Naval station

wos
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27. wehed wvn e @A R, (qugad =R frew) o ] gea gt ?
H. A YHIE FEEE T gRH . YW IRE
F.  HAe=een It a6 g framean smden fawm
(1) & A M B (2) ®F % A0 T
3) %S _ (4) e 31,9 0 F
Which of the following charactestics is/are not applicable to CBD ?
a.  High percentage of offices and shops b.. High accesibility
¢.  Growth is upward rather than sideward d. Residential area
(1) Onlyaandd (2) Onlycandd
(3) Onlyd (4) Onlya,bandec
28. 91 ¥RATER ST SO RH i,
| I o I v
(1) 7a &5z Hifea Ty HWE R . e WG
(2) aﬁa: g HEHH HHG Sl wg a9
(3) ¥ &43 fees ag e w5z T 9y
(4) wifees 93 Hitfer @z HeHH |3 T ag
Identify the correct sequence of the seas on the basis of increasing salinity.
1 m 11 v
(1) Dead Sea Caribbean Sea Andaman Sea Baltic Sea
(2) Baltic Sea Andaman Sea Caribbean Sea Dead Sea
(3) Andaman Sea Baltic Sea Caribbean Sea Dead Sea
(4) Baltic Sea Caribbean Sea Andaman Sea Dead Sea
29. @ fumEr ffer %0 .

F. @ i e e g,

%, o e Sy TeEeE 9 Tl gy 3.

%, o () o 9R vES .

5. U e wreme S ar wHEHad g i 3 YVl AEEnTmed THee aTed.

FhAtR SR g/ fam st s ?
(1) & 37 Ifor 9 (2) 3, 9 &
(8) FH g AN F (4) @ @d

Consider the following statements :

a. LaNino is a little girl. _

b.  During the time of La Nino cold water in the ocean rises to the surface,

c. La Nino strengthens the Indian monsoon.

d.  During the time of El Nino, trade winds weaken and warm water moves east in

the ocean.
Which of the above statements 1s/are correct ?
(1) Onlyaandb (2). a,bande
(3) Onlybande (4) All of the above

Toed] SIS AT / SPACE FOR ROUGH WORK



A 19 wos

30. wrehe s Tee e wiw e w T Sait s fre e o @ s
el |

(1) W I&=h

(2) IT-IWERREHE THE

(3) Iwrhfeadia dogm (ﬂﬁ@ feamas)
(4) Ivipleadia e

In the given diagram, the shaded area shows the spatial-spread of a climatic region
according to Trewartha. Identify the region.

27

(1) Semi-Arid

(2} Sub-Tropical Humid

(3) Tropical Savanna (Dry Winter)
(4) Tropical Wet
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31. SIS AT ‘ _
eI 130T ey aria
A, FRA L 63T 2010
4. Ag-dT@ IL. 15 HmWL 1997
%, §uEE III. 1637 2013
3. fom IV. 269 2004
&N T ® ¥
(1) III 1 v II
@) I 111 v 11
(3) II I I 13
(4) 1II )\Y I IiI
Match the following :
Places of Cloudburst - Date of Cloudburst
a. Kedarnath I 6™ August 2010
b. Leh-Ladakh II. 15tk August 1997
c.  Mumbai II1. 16th June 2013
d.  Chirgaon V. 26th July 2004
a b c d
(1) III I v II
@ 1 I v I
(3). Il I II v
(4) 1II v I III

32, ofreen PRI, IERT T AT HE 1991m$ﬂaﬂwraﬁawwmmw@ﬁm@

5t AR et ?
(1) 10 9rEsh1T der (2) 159 d& HH
(3) 20 #EH Yu (4) IOFR H T

As per the Recycled Plastic Manufacture and Usage Rule 1991, what should be
thickness of carry bags ?

(1) Less than 10 microns . (2) Less than 15 microns
(3) Less than 20 microns (4) None of the above
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(1) @ :
(2) Temr=er wem
(3) ITEs
(4) TETEE R
Which of the following States of India is on the way to becoming the first carbon free
State ?
(1) Kerala
(2) Himachal Pradesh
(3) Uttarakhand
(4) Arunachal Pradesh

34.

@wﬂaﬁﬁaﬁwmmmﬁa@méﬁﬁﬁuﬁ%@mﬁﬁﬁim?
. ufvam He
) @ HRe

(3) femTer

(4) Fwaeh

Which of the following mountains are considered as one of the top biodiversity
hot spots ?

(1) Western Ghats

(2) Fastern Ghats

(3) Himalayas

(4) Aravallis

35.

A Tosg gavem @eliatd wiven adf aneea 2
(1) 1958 '

(@) 1972

(3) 1985

4) 1995

 Ozone hole was detected in which of the following years ?

(1) 1958
(2) 1972

3 1985

(4) 1995
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36, WA feraree s e grard=ar Fer @Efiats! st dF aw g 2

¥, < Iy iRt qraT waEEd gEanT v @R S

. faww ufsr Som g& aa do FrEmer aren Wi (S 2o

F. Hied 9 IEET A W

3. JUNMY 95 IEA HFHEE W ,

(1) g 3, & anfor & (2) ad oA, H A1 B

(3) wad 9, % A (4) g A, @ AT 3

The strategy of planning adopted in India in the earlier period had which of the
following three aspects ? : :

a. Developing sound base for initiating the process of long-term growth
b. A high priority to industrialization when actual development began
c. Emphasis on development of capital goods industries

d. Emphﬁsis on development of consumer goods industries

(1) Onlya,bandc (2) Onlya,candd
(3) Onlyb,candd (4) Onlya,bandd
37. “OFT AGHW TEVH NSEedl AT difie JieE 1 Wl Tafaean T,

(1) 1965 -66 (2) 1966 - 69 (3) 1967 -70 (4) 1968-T1
The Annual Plan described as ‘Plan Holiday’ were implemented during =~~~
(1) 1965 - 66 (2) 1966 — 69 (3) 1967-70 (4) 1968-171

A, 20% & TRG 90T 33-3% V& HH G

. 33-3% Y& ST 9O 50% VT F AHA

F. 25% U1 IEF 90 50% Qe HH} A

(1) & ® (2) %W

(3) had 31 (4) =l vEHd AT

The household is vulnerable to become multi-dimensionally poor if the Household
Deprivation Index score is ‘

a. greater than 20% but less than 33-3%
b. greater than 33-3% but less than 50%

¢.  greater than 25% but less than 50%
(1) Onlyc (2) Onlyb
(3) Onlya (4) None of the above
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23 WO8
e f S = s w2
(1 fafefed, vtrfafad sve my
2 ForrerEETe, yHeseEse avg Ty
3) fomtemgTe, TegeRERm e AT
4) TR R T
LPG stands for
(1) Liquidity, Profitability and Growth
(2) Liberalisation, Privatisation and Growth
(3) Liberalisation, Privatisation and Globalisation
(4) None of the above

40.

AR e AT R S JE S o fe o ;-
. wdgEEIRT RS gigEe

9. GAGHEEdT IS (Faerde) e el s

F.  HAEHEYERG WU 85T e

T I fawmdE W

(1) &d 31 =71 §

(2) ¥, 9, H, T HI qK

(3) wa o T &

(4) % 3, 9 AN

The Twelfth Five Year Plan emphasises the 'following dimensions of inclusiveness :
a. Inclusiveness as poverty reduction

b. Inclusion as group equality

¢.  Inclusiveness as regional balance

d. Focus on income inequality -

(1) Onlyaandd

(2) All four a, b, ¢, d above

(3) Onlyaandc

(4) Omnlya,bandec
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41. 89 2009 Ae SREa™ HSHIY SUEAT TEdiNl TRl SUEE= ded affden T

(1) . wm.d). dge (2) . fava F=zw
(3) 3T EF T @) @ g=wE

The Report of the Expert Group to review t_hé methodology for estimation of poverty
(2009) was submitted by

(1) Prof. S.D. Tendulkar (2) Dr. Vijay Tendulkar
(3) Ashok Sen Gupta - (4) D, Subbarao

42.  rwifeshl wne gge fwesdt @ -
3. HH B TG AT w1 ATTTH R TR HLEHG B0 95,
9. Al IO SRSt 3N AT HFWTH BTN BT IR TEATErEN Sed BIVR S

%, Sl gm0 et
(1) S d (2) wad A
(3) ad & N ‘ (4) hEFd T I +

The demographic dividend occurs due to
a. falling birth rate and consequent shift in the age structure.

b.  falling birth rate and changes in the age structure towards the adult working

ages.
c. falling death rate.
(1) Onlyb : (2) Onlya
(3) Onlyc (4) Onlybandc
43. AU TEENNS El (2007 — 12) Ghedl Bl

(1) gfg a femmrsa f9m

(2) g gfg 9 Feprarn o=

(3) g 3 wHEwEw Jigean @R

(4) oG, TEEHENS 9 IREq gfge fR9n

The theme of the Eleventh Five Year Plan (2007 — 12) was
(1) Towards growth and development

(2) Towards faster growth and development

(8) Towards faster and more inclusive development

(4) Towards faster, inclusive and sustainable growth

FoEqT HIATSE AT / SPACE FOR ROUGH WORK
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44. U AHEEIT 901, 2000 2 TEI HIOR B ?

3. wia R am@ fEa s I A geget 100 = @ ot afd gt fea s
ST T Fegel 30 T Wielt HATm,

q.  wEee T arr wiey For o femumaet s,
&, ¥R A fd T S w g 130 o @t ot sfy e Rea e

FRITHAT ST Yegel 35 A1 Wi AT,
(1) w9 onfor & (2) R H AU
(3) ¥ | (4 FEF

The National Population Policy, 2000 aimed to

a. Reduce maternal mortality rate below 100 per 1 lakh live births and infant
mortality to below 30 per one thousand live births.

b. Prevent and control communicable diseases.

c. Reduce maternal mortality rate below 130 per 1 lakh live births and infant
mortality to below 35 per one lakh live births.

(1) Onlybandc (2) Onlyaandb
(3) Onlya ) (4) Onlyc

45, fof weRTEEE TN 2014 TS GRAEE SO o siEen A ?
() o R A |
(2) Trraeriwm
(3) Ut S g AT
(4)#63%@‘

Which scheme was introduced by the Government for financial inclusion
in 2014 ?

(1) Pfoperty Disclosure Scheme
(2) Demonetization
(3) Pradhan Mantri Jan Dhan Yojana

(4) All of the above
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46, AR J5® T AT [T e QM At Tdie Jeee guTie el med ¢
., U9 [ASATAT Galia FHROT F00
T AP T R Aeelte
b, ATTOHOTET G A W ISR F F0
s wel afeE = w0
(1) & H, 930S (2) A, 9, FAVE
(3) ¥ AT E (4) et vwd A
The objectives of Jawaharlal Nehru National Urban Renewal Mission H include :
a. Improve service delivery standards
b. Empowering urban local bodies
¢.  Slow down the rate of urbanization to the manageable level
d.  Reduce urban poverty
(1) Onlya,bandd (2) a,b,candd
'(3) Onlyaandd (4) None of the above
47, wglhewm R e Remmend el o T, A areliei PR gew SR o ?

A, FrEeER e FTsTEEs gud.

q.  HEied & Wieaan, THHGR F HAECHHGA Uav.

%, wigIom gEUd TAFHAMS IS et 918.

T iiE ST SRR GHIEG helet SEAT Freof.

(1) wad 31 3oy (2) G 9 M ®

(3) Wad A I (4) FhadH &

Urbanisation has not helped in economic development due to which of the following
factors ?

a. The neglect of slums in urban areas in planning strategies.

b.
c.
d.
(1)
(3)

The unorganised sectors are exploited by capitalists, landlords and contractors.
Increasing use of capital intensive technologies resulting in unemployment.
The benefits of growth are unequally shared by various sectors of society.

Only a and b (2) Onlybande

Onlyaandc (4) All of the ahove
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48. T3 A (IfEar) guruimed ghe Mt quEw gl

¥ @ geh (afar deaml) Fa

. «‘alf%'a'rcﬁa"f Pt

F.  Foo (IfER IR At g Qe T

3. FES A AR TGE

(1) S50 3 T § (2) @, 9, FAMS

(3) ad 9 a7fur & (4) g A, 4T H

Tenancy reforms include the following measures :

a. Regulation of tenancy rent

b. Security of tenure

¢. Conferment of owneréhip rights on tenants

d. Ceiling on maximum size of cultivation holding

(1) Onlyaandb (2) a,b,candd '

(3) Onlybandc (4) Onlya,bandc
49. A FH. (DBT) ¢ WCah 3= Wi &9 @ ?

(1) fewig @ ¢ (2) T IR TR

(3) TEEE % TR @ feew T grgE

DBT is the abbreviation of

(1) Demand By Trade (2) Direct Benefit Transfer

(3) Direct Bank Transfer {(4) Deduct By Transaction
50. I ForERe B¢ <t T wivran 9t el ?

(1) 2010 (2) 2012 (3) 2011 (4)

In which year was the ‘Green Climate Fund’ established ?

(1) 2010 (2) 2012 (3) 2011 4)
oedT FHTETA! ST / SPACE FOR ROUGH WORK P.T.O.
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61.

28 A
gedffafia wa fafire fowmh gaim Rrausn ansar oo 0-26 w6 agd ddfia A FF 60°
ang. a1 fommft gedie gadhm &7 Tl v w18 ?

(1) 052 v
(2) 013 TS
(3) 156TH=
(4) 60-26 THH

In the magnetic meridian of a certain place, the horizontal component of the Earth’s

‘magnetic field is 0:26 units and the angle of dip is 60°. What is the magnetic field of

the Earth at this location ?
(1) 0-52 units

(2) 0-13 units

(3) 156 units

(4) 6026 units

52. )

IgETEHE! HF A VAT A TG 1800 FRAlm (IGEES + AT AR, ¥ IGEED
el N 2 ms™! a1 wwE ST afime o, feen faty oM adur 99 4000 N BTR. |
A IAThg IgaTeRIen A fopdt dTeRe qraeht et o ffvsa +0. (g= 10 m/s?)

() 59 hp '

(2) 38hp

(3) 44 hp

(4) 155 hp

An elevator carrying' a maximum load of 1800 kg (elevator + passengers} is moving
up with a constant speed of 2 ms L, The frictional force opposing the motion is

4000 N. Determine the minimum power delivered by the motor to the elevator.
(Take g = 10 m/s?) |

(1) 59hp
(2) 38hp
(3) 44hp
(4) 155hp
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53. SOTeN WRT TR 9%ar B 50 Eft AR, e se« afgash AR iy ofar fedt
S, T FHra THWEA S 1-50 I8 ?
() 100 &t |
(2) 25%
(3) 50&f
(4) 758
What is the focal length of a double convex lens for which the radius of curvature of
each surface is 50 cm and the refractive index of glass is 1-50 ?
() 100cm
(2) 25em
(3) 50cm
(4) T5cm
54. T T vhw @ frase B SurER Pt vieda st T 1 e AW, T gHTwm,

gaturey yefidad o 8 frfle 3 20 YehqE Fa IR, W e TN HHEEAR T
gefwfter arae et 2 |

(1) 820w

(2) 500 Tshe

(3) 1500 TH

(4) 2460 THF

A new unit of length is chosen such that the speed of light in vacuum is unity. What
is the distance between the Sun and the Earth in terms of the new unit, if light
takes 8 minutes and 20 seconds to cover this distance ?

(1) 820 units
(2) 500 units
(3) 1500 units

(4) 2460 units
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55. faftts SRawal s G st a3 336 #L/A. ogH wn |ie 3 A R, d SHaRa
T, o savi S8 &6 ?
(1) 100800 Hz, &l
(2) 100800 Hz, 8%
(8) 11200 Hz, A&t
(4) 11200 Hz, 89
A sound wave having certain frequency travels with a speed of 336 m/s and
wavelength 3 em. What will its frequency be 7 Will it be audible ?
(1) 100800 Hz, No
(2) 100800 Hz, Yes
(3) 11200 Hz, No
{(4) 11200 Hz, Yes

56. W 3 UY THAL Fgui sel, T =T gRord) U9 45 Q Bt ofe K A (y g A
e, 7 g Sfomf Ty 10 Q B, | o g fRadt wen.
(1) 209,258 (2) 200,209
(3) 30Q,30Q 4) 15Q,30Q
If two resistors are connected in series, the total resistance ié 45 Q and if the same
resistors are connected in parallel, the total resistance becomes 10 Q. Find the value .
of the individual resistors. _ :
(1) 20Q,25Q (2) 209,200
(3) 30Q,30Q 4) 159Q,30Q

57. faarfim $t-12 9 @riteth @m Sod ma ?
(1) WE, 9H, 9%d 9 M 3Mas dia faamy
(2) WHIEH, U9 F &1y
(3) WIAl, Wrd, Mhlelt 9
(4) a0 Td

Sources of vitamin B-12 are

(1} Meat, Fish, Liver and Bacteria in small Intestines
(2) Mushrooms, Grains and Nuts

(3) 'Bread, Rice, Broceoli and Soyabean

(4) All of the above
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58. UF gH — UF T UReedHl o gfed # i, oF I9F TR TEHE gvavr fRden

e w@ a:lﬁuﬁnﬁ?rwrﬁ‘aﬁm?
(1) 3 Ht (2) foea anfur ofem
(3) TTNfNg @u (4) Stpig M0 AT

The one gene —one enzyme hypothesis suggesting that one gene controls the
synthesis of one enzyme was proposed by

(1) Arthur Kornberg : (2) Beadle and Tatum
(3) Har Gobind Khorana 4) J acob and Monod

59.  THI=4l HeHid WicHietdehl ivd faawor SU=t g ?

(1 S oga @ WY TeH TINU HEA FAH ITASH HEA IqTd ST Wk qISNOT
e JTE I FHET.

'(2)' FHa% Apdl 9 @A T HEA IS ITAsY FEA ¢dld 9 a7 TH Gy F68A
I TER FT4.

(3) = 7Y Heheodiog Wgieied 3E,
(4) mmmmmmmwmwm
Which description is correct for Lichens ?

(1) Algae makes available the moisture and minerals to Fungus, which absorbs
food by photosynthesis.

(2) The Fungus make available the moisture and minerals to Algae, which prepare
food by photosynthesis.

(3) They are facultative mutualistic.

(4) Lichens have well developed stele for absorption of moisture.

60. WAl FIA FFEadt TN T2 fuFfavaren frden Fafe +w@m 2

w.  femfe 9. iy

%, fatfas ot 3. sfuefA

(1) =1, =amus , (2) % H A0 |
(3) W& 9 I H (4) S

Which of the following plant hormones controls fruits ripening ?
a. Zeatin b. Auxins

c.  Gibberellic acid d. Ethylene

(1) a,bandd (2) Onlyaandb
(3) Onlybandc (4) Onlyd
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61,  =ifontur TIGER IV FETRTor Irg 3R 2

(1) -%a, fi-wer, €@ (2) -, foer fow, =R feo

(3) WM, U, HIATEH (4) adad, i, Fem-ad

Which is the correct group from the taxonomic point of view ? '

(1) Sea-fan, Sea-star, Sea-pen (2) Jelly-fish, Silver fish, Star fish

(3) Pholas, Pila, Cuttlefish (4) Earthworm, Acornworm, Clam-worm
62. Wil HIE/HIVR TR I RIS qerd 717/ 778T ?

3. amfan . w  fwudA
%.  qfEn g g
(1) it st fhediare (2) e frud
(3) ghan anfey syt (4) Frudams snfor ghan
Which of the following is/are not a nitrogenous excretory waste 7
. a. Ammonia b.  Creatine
¢. Urea d. Creatinine
(1) Ammonia and Creatinine {2) Only Creatine
(3) Urea and Ammonia (4) Creatinine and Urea

63.  IWU/I § WIUWUE: Fit FewHe Iq@E ?
(1) wemiE (2) STe 92H
(3) o wit=ma SRIHE (4) foruR erEERd
The testes normally descend into the scrotum by about
(1) 6 months (2) the time of birth
(3) the age of 3 months (4)  the time of puberty
64, TSI Hivrear IR SlasmeETeaT @ 3Ed ?

. geEiETE a. it

%, ofwy fmin e g whE W

(1) %A, g & : (2) S E, F 0TS
(3) Had A, H AT (4) %aq A, T anfor €

Which of the following are branches of applied biology ?

a.  Microbiology b.  Agriculture

c. Pharmacy d. Medical Science

(1} Onlya,bandec (2) Onlyb,candd |

(3) Onlya,candd (4) Onlya,bandd
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a3 wos
e fagg stawed fream sl gafta e ?
(1) | HTINR
(2) IR
(3) MR
(4) ATH
Faraday’s Laws of eleci;rolysis are concerned with
(1) Equivalent weight
(2) Atomic weight
(3) Molecular weight

{4) Atomic number

66.

ST hghATT AVERATR M0 Y] aqe fafaw swam@, v <= g anH 3@, @
AT FEUrdId. '

1) wwenfem | ) wheE

(3) TFERENY (4) Tlehl whgl T

If nuclides have different atomic numbers and different atomic masses but the same
number of neutrons, then they are known as

(1) Isotopes (2) Isobars

(3) Isotones (4) None of the above

67.

foe™ 9 w@F __ A A
(1) kPa

(2) kPadm?®

(3) kPadm? mol™!

(4) kPa dm® mol™

A unit of Van der Waals constant (a) is
(1) kPa

(2) kPadm®

(3) kPadm® mol™}

(4) kPadm® mol™
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68. IuEl 1018 31 et 2
(1) 2 (2) @
(3) YR
The prefix for the multiple 1018 is
(1) tera (2) peta
(3) exa (4) atto
69. T WS (pH) o Wiue witeat srmeren Wi faeg gt wmen 3 TEU.
(1) Tew fog (2) i fag
(3) e |y (pH) g (4) wwfeE g
The pH at which the charge on protein colloid is reversed is called
(1) Coagulation Point (2) Flocculation Point
(3) Neutral pH Point (4) Isoelectric Point

70. N, + 3H, = 2NHj + Heat

sl AdasRghmsa f e W 0w TEEfs afifRE S
IR ST I TR A
(1) I T T F qOUE
(2 =t g® 7 =t que
(3) 3IAgE T IA qIHH
(4) = gw T IA AR

Ny + 3H, = 2NH; + Heat

The Le Chatelier’s principle suggests that are required to drive the
reaction to the right and thus form NHj.

(1) high pressure and low temperature
(2) low pressure and low temperature
(3) high pressure and high temperature

(4) low pressure and high temperature
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3.
T,
.
B.
< 4
(1) III v
@ Iv I
3) I v
4 IV 11
Match the pairs :
- Act
a.
b.
C.
d.
a b
(1) Ul v
2 IV I
(3) III v
o IV II

XA GLHR JfufEE, 1935
ey s sifufem, 1947

Govt. of India Act, 1919
Govt. of India Act, 1935

sfea
i aftg sAfefEm, 1909

|y wR iR, 1919

II

II

Indian Councils Act, 1909

35 wos
Wqq |

I o O g1 AfhTs wid Tlderm A1

I gmed fome vt |

IT1. . wiecamgra e aqeemed) wad vt
v. winmed fgeme vgdh

1T

II1

Provision

I.  The Crown no longer the
source of authority

II. Dyarchy at the Centre

ITI. First time, separate representation
to the Muslim community

Indian Independence Act, 1947 IV. Dyarchy in the Provinces

c
I1
II
I
I

d
I

I
I
II1
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72. WS&@WﬁWﬂﬂﬂvﬁwaﬁﬁmﬁwﬁmw:

.

(1)
(3)

forean ST T ufg=iren Sl HueHal a1 S9SN WYRTE 3d, SR e aveasen
FagR T Hramadl GevaTear et AT fwestel ATd &
ueguchenr aftamft it Foarn afier e, 3 e gt whvesm @ @

Hiffa e foeia weam fiera Fef @
faur ‘o s (2) faum 9 s
A e ;A= (4) A farery R

Consider the statements regarding the proclamation of Emergency under
Article 352 :

a.

(1)
(3)

It automatically comes to-an end on the expiry of one month from its issue,
unless it is approved by a resolution of the Lok Sabha before the expiry of that
period.

The President is empowered to proclaim Emergency only if the Council of
Ministers recommends to him in writing that such a proclamation should be
issued.

Statement ‘@’ is correct 7 (2) Statement ‘D’ is correct

Both the statements are correct (4) Both the statements are false

73. ‘AR R O it S A s gt 2

(1)

(2)
3

(4)

TR TeeeH —IRTeie qides Tgdie T 90 Sl Trat.

WA e qAfdea 3 FrEge uey fieem ugdl a1 awagr gt o,
e gafdarRT 3 Tsaaea=ar 9 =31 ufifimera wfas FA FRERIAT @0 81g Tehd
EIGH

e e i fRien STEveE T e 69 we I gEen

Which one of the following statements about ‘Judicial Review’ is not correct ?

(1)
(2)
(3)

(4)

The Constitution of India does not clearly describe the system of Judicial
Review. . -
Judicial Review in India is governed by the principle ‘procedure established by

)

law’. ‘
Judicial Review cannot be applied in respect of laws incorporated in the 9th
Schedule of the Constitution.

The Parliament cannot pass laws and amendments for overriding the hurdles
created by Judicial Review.
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(1) g% 239 A

(2) BT 239 AA

(3) 9<% 239 AB

(4) 3= 239 B |

The reference to Nétional Capital Territory of Delhi is found in |
(1) Article 239 A

(2) Article 239 AA

(3) Article 239 AB

(4) Article 239 B

6.

108 =41 HeATGERI AehmTea @eflel faum faemme =

9. ToEdd 3 fadws 9w, 2010 TSt WeE F AW,

®. diewnd fugeer HHte wagH o .

. 15 7 Awai AR 3 ® 9.

et Forht faam JET sda ?

(1) aa A, 9 0T 8

(2) - %9, ® AN

3) FHR A, AN ®

4) ¥, 9, %

Consider the following statements about the 108" Constitutional Amendment Bill :

a. It related to reservation of one-third seats in Lok Sabha and State Legislative
Assemblies for women.

b. Rajya Sabha passed the Bill on 9th March, 2010.

¢. Lok Sabha never voted on the Bill.

d. It was lapsed after the dissolution of the 15t Lok Sabha.
Which of the statements given above are correct ?

(1) Onlya,bandd

{2) Onlyb,candd

(3) Onlyabandc

(4) a,b,candd
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76. mmﬁmmﬁ@ammmv

H. TEYEEdE T8 S

9. I fowar S S

F. U HIEOT WO '

®.  orshll T Seman!

3. oM 9T FRg Fivaa o

F. . AEe Faeumme wage

(1) %od H, I & (2) hed 9, © afr §
(3) wud g, 3 SNV ® (4) P H

Which one of the following duties have been prescribed for the citizens ?

a. To organize village panchayats

b.  To minimize inequalities in income

¢. To defend the country

d. To render military service

e. To secure uniform civil code

f.  To vote in public elections

(1) Onlya,bandec - (2) Onlyb,dande
(3) Onlyd,eandf (4) Onlyc

77. GEla fun famma an
A, W UEE Al qHeAT G wunREE! Fagd el old, W fod S avegEE dan
239 3583 3 10 Ragiear s Fesfaew Tied, 3w JEd I fma g
9. W wEHl ¥ wEen arEre gF s Fagd e, mﬁfﬁmmmﬁw

it e e stn R .

®. W TH UWIEN] HCH @A gEl INTEEE! qEte fragy aimen, @ wmrht gfgemn
TuTEe s @ B,

et FHom faum/faam s argta 2 :

(1) o o AT & (2) %o g anfors

(3) S A 4) ®HH

Consider the following statements :

a. If a person is elected to both the Houses of Parliament, he must intimate
within 10 days in which House he desires to serve, otherwise both seats become
vacant. '

b. If a person is.elected to two seats in a House he should exercise his option for
one, otherwise both seats become vacant.

c. If a sitting member of one House is also elected to the other House, his seat in
the first House becomes vacant.

Which of the above statements is/are not correct ?

(1) Onlyaandb (2) Onlybandc
(3) Onlya : (4) Onlyc
T HTHTEIG! ST / SPACE FOR ROUGH WORK
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78. TN THaIuR e seagrl P et sfdaen st frendiess aadigo
helt WTd ? WiefErssht v a1 |t s (EEPI) F4q TE ?
> I |
q. TEE :
F.  dravdia fotrdt ag
g Uvwandia fated ue e
§. e g
. USI9HET HeAy |
(1) ®&a - (2) hd § O E (3) e § o ® (4) TN E
The Chairman of National Human Rights Commission is a;ipointed by the President
on the recommendation of a committee of certain persons. Who among the following
is/are not part of that committee ?
a, The Prime Minister
b. The Home Minister
¢.  Leader of the Opposition party in the Lok Sabha
d. Leader of the Opposition party in the Rajya Sabha
e.  The Speaker of the Lok Sabha |
f.  The Chairman of the Rajya Sabha
(1) Onlyb (2) On.ly b and d (@) Onlyeandf (4) Onlyf
79. weld fyum S o

3. wmwzﬁzwmmmmﬁmﬁ'
Gr=wdiel oareden qearean Aol St aag st 3d ?
T, &eH 262 TOR YRAAT TSUdAT ATEST T4l Jeded @dg T HamET AT

et Frawidier 3E fumA H 2
(1) o sufor = g (2 WA
(3) %=« (4) A fqur 9% e

Consider the following statements :

a. According to Article 262 of the Indian Constitution, the Parliament may by law
provide for the adjudication of interstate river water dispute.

b.  Article 262 empowers the President of India to set up an interstate river water

dispute tribunal.
Select the incorrect statement/s :
(D Both a and b (2) Onlya
(3) Onlyhb | (4) Both a and b are incorrect
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80. welreh Hor faum fags ame 2

(1)
(2)

(3)
(4)

T ), Thraas oF fhar sifies TsaiEtdt TeaaTer we fgad e 3 A,

argt

: T THITAT g AAFIGIIeh THIT Heed 7601 AE9TH 3.

Which of the following statements is correct ?

(D

(2)

(3)
(4)

The same person cannot be appointed as Governor for two or more States at the
same time. '

No procedure has been laid down in the Constitution of India for the removal of
a Governor from his post.

The Governer should be a member of either House of the Parliament.

The Governor appoints the Chancellors of the Universities in the State.

81, foumiia viaeidewia Erefeteh Sor e mes @7 2

&
.

E
.

(1)
(2)
(3)
(4)

faumfia uftwer & weATeHS TE g,

1956 =41 TGS HEaFar @@= Hifd smet o,
g Teh w1 fomiia wlteren steny st
Had 3 A %

Had 37 AT g

Had 31, & M0 B

el od

Which of the following statements about Zonal Councils are nef correct ?

a.
b.
C.
d.
(1)
(2)
(3)
(4)

_ The Zonal Councils are the constitutional bodies.

They are established by the States Reorganisation Act of 1956.

Home Minister of the Central Government is the Chairman of Zonal Councils.
India is divided into seven zones and provided a Zonal Council for each zone.
Only aand c

Only a and d

Only a,cand d

All of the above
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wa'?ﬁ?
K1k

4. Wwwmmﬁaaﬁw%ﬁ T AT L, THIA] 9 TRl AT, augr
T AT SToET=T R gaTfase a/me.

o U5 geyi Fasve el 21 a8 € feum sl swa.
T. Wﬁﬁmamwmmwwwﬁyﬁﬁﬁlﬁ

AL IR C
(1) %I 3 A F (2) wE & i %
(3) FFE AMTE (4) ad o AT B

Which of the following are not the voluntary provisions of the 7374 Amendment Act
on Panchayati Raj ?

a. Direct elections to all seats in Panchayats at the village, intermediate and
district level.

b.  Granting financial powers to the Panchayats that is authorising them to levy,
collect and appropriate taxes, duties, tolls and fees.

21 years to be the minimum age for contesting elections to panchayats..

d.  Giving representation to Members of the Parliament and the State Legislature
in the Panchayats at different levels falling within their constituencies.

(1) Onlyaandec (2) Only b and ¢

(3) Onlybandd (4) Onlyaandd

83. AU TRTCHETEd Wieierushl Hoe faum stet g ?
) R e rmed Ricg 39 S I,
AYE A He T¥ IUFEa A=l sgram Risfeet .
3 =mrfu feae @ g aeten o g9,
T =i [iHeevEE 9 TEam.
Which of the following statements about International Court of Justice is correct ?
(1) The Court is permanently in session at Geneva.
- (2) All questions before it are decided by a majority of judges present.
(3) " The judges are elected for a six-year term.
(4) Retiring judges are not eligible for re-election.
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84. 17@@@@%%@%@%%%@3{3@?

A,
.
.
(1)
(3)

T A H TAW 91 el .

o I Tehe GEITER JuHer .

AW 59 YEHEE qred T 9T F9.

Hadd A (2) ®Fd

T F (4) <l T AT

Which of the following statements is correct about the medal tally at the 17" Asiad
Games ?

a.

Host country Japan secured second position.

b. South Korea topped the medal tally.

c. India secured fifth position with total 59 medals.
(1) Onlya (2) Onlyb
(3) Onlyc (4) None of the above

85. S Jo54T :

A, e AE had I =S
q. o a1% Fiew . Hews

% de % a8TE S . IL s

3. ofs 31w sgrde uferhed IV. hices

i | ® 4
(1) Iv I I11 I
(2) 11 v 11 I
3 IV I11 I II

4) III I II v

Match the pairs :

a. Land of Cakes I Thailand

b. Land of Canals II. Netherlands
¢. Land of Thousand Lakes III. Finland

d. Land of White Elephants IV. Secotland

a b c d *

1y IV 1I III |

(2) 1I v III I

3 IV I I i

(4) III I II v
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86. UTHAT ame Wieha faun foawra =

A, et T 1931 7,

g, I WA e HA9al ]G .

. TR GG FR 4¥ @il

3. TIhAT SR USEE 39 W,

(1) 1, o & sA= (2) ¥, § T § TR

(3) &, ¥, Mg R (4) WaEd AT TR

Consider the following statements about the ‘Commonwealth’ :

a. Officially formed in 1931. '

b. It has no Constitution or Charter.

¢. The newest member country is Rwanda.

d. The most recent departure country was the Maldives. |

(1) a,band ¢ are correct (2) a, bandd are correct

(3) a,b, candd are correct (4) Only a is correct

87. wieled HoR R s a7t 2
(1) I 2016 vdq YRArdA 35 SIfTh TRET TASMAT AeHA AT=aT Gl 38

(2) o Togr oheR Tt SqUEr § IRah oM w9 anEn wween TidE ufgeaian antfae
Feft Aeht e

(3) Twdra waifase wewd @ireesi (Khangchendzonga) TS U 1fi Sav €1,

(4) ot 2016 9= ot HEHISR (Le Corbusier) A=aT € UM FaU SehedT=l GHEN
ATHTAT JAFTTR TRET TASAT AR Hell R,

Which one of the following statements is nof correct ?

" (1) There are 35 World Heritage Sites in India recognised by UNESCO as of July
2016.

(2) India’s first two sites inscribed on the list were Red Fort complex and
Khajuraho.

(3) The recent inclusions were that of Khangchendzonga National Park and two
others.

(4) In July 2016, seventeen projects by Le Corbusier in seven countries were
inscribed in the list of UNESCO Heritage Sites.
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GreAterdeh! g faam s 7787 2

(1) B g @ Wi Al S TR,

(2)" TS WIS & WRAW IS Taiq AiS WO 3718, |

(3) #ugs & wdier galfus A gl Uh 9 .
(4) sl e T ‘
Which one of the following statements is not correct ?
(1) Tehri Dam is the highest dam in the world.

(2) Bhakra Nangal is the largest dam in India.

(3) Hirakud is one of the longest dams in the world,
(4) None of the above

89,

WRATdIA Tl Aie Jeeardt ted S ?

(1) Femamm e — S @ FEp

(2) fas wwm - fege & w=ipurd

(3) & I W - foeeaeh & Wi

(4) T R - W & R

Distancewise, which is the longest train in India ?

(1) Himsagar Express — Jammu Tawi to Kanyakumari
(2) Vivek Express — Dibrugarh to Kanyakumari

(3) Ten Jammu Express —- Tirunelveli to Jammu

(4) Navyug Express — Mangalore to Jammu

Freftatdt i T sy AR ?

7 FearmET
(1) WaTed - 9501 §on=E
(2) wUH - e
(3) T —  yonfer ard
(4) o - gl wRE

Which one of the following pairs is mismatched ?

Dance Dancer

(1) Bharatanatyam Padma Subramanyam

(2) Kathak —  Sitara Devi
(3) Kuchipudi —  Mrinalini Sarabhai
(4} Odissi — Indrani Rahman
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91. NRATIA PV TG B AT WIS Hel Fwar ?

(1) mEm (2) 3t (3) wwEs (4) o
In which State of India, is the ‘Sarhool festival’ celebrated ? '
(1) Assam (2) Odisha (3) Jharkhand (4) Chhattisgarh
92, e @
TG /TP THTIST
A, HTeaL on L & uga
¥ wEfE I SER -
F. o faen II1. sPRa!
T Aq Efem IV, smgeat
A q9 C 3 k-4
(1) 1 I Im 1w
(2 I III II v
3 IV III 11 I
4 IV IT I 1
Match the pairs :
Writer Books
a. Munawwar Rana I. Satta Grahan
b. Jaswinder II.  Uchat
¢.  Asha Mishra III. Agarbatti
d. Nanda Hangkhim IV. Shahadaba
a b c d
(D I 11 III v
(2) 1 I11 I1 v
3 IV IT1 I1 I
4 IV II 111 |
93. Tl A3 2 (%) el HHM ofeT :
A, wfe 9. urd T 8. M 3. W
(1) 8 8 3,%,35 (2) € A9, %3
(3) ¥ %,9, 9,3 (4) T, A, 9,3
Arrange the biggest countries (in area) in ascending order :
a. Brazil b. India c. China d. Argentina e. Russia
(1) d,b,a,c,e _ (2) d,a,b,ce
(3) d,e,b,a,e ' 4) d,a,cbe
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94, @ faemas fowm/ee e :
A, & ot o . ¥, B SANTS & WE AR,
%. B ATEGHNE T Hy AR, 3. ? o AfifE dqome k.
(1) witssm (2) IS (3) TR wem (4) %A
Name the place described below :
a. Itis an old capital of Tanzania. b. It is the main city of business.
c. Itis the main centre of transport. d. It is also a natural port.
(1) Zanzibar (2) Dodoma (3) Dares Salaam (4) Crol
95. 2016 T FRITIT WY VAT U1 HEH) AT Al
T FHITHE]
A, Wi I s 3 st
¥ 3z 11, W 3Afer 3 uw.
F.  Ig AN III. yra anfer e
O P G IV. Wi i |
H q K3 4
1) 1v I11 II I
(2 I IT III v
3 IV I IT III
4 O v I 11X
Match the pairs about Armed Forces Exercises during 2016 :
Exercise Between
a.  Shakti I.  India and Sri Lanka
b. Indra I[I. India and USA
¢.  Yudh Abhyas III. India and Russia
d. Mitra Shakti IV. India and France
" a b c d
1 IV II1 11 I
2 1 i III v
3 IV I I1 III
4y 1I v I 111
96. WG HIVET GEd TR dHmed Tt Fer Iuevarh fremg eft am ?
(1) s 6 (2) fored ¥ a1 3fean
(3)  stiawrsr A fedt (4) e
Which institution recommended an ‘Islamic Window’ in Conventional Banks ?
(1) World Bank (2) Reserve Bank of India
(3) International Monetary Fund (4) NABARD
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RIS R 7 faamed e wemas @@ IHa9 fag 3@, S wEgR 2010 76 ImEen
T AR i s et 2. e aftdn ®e s @ ? |

(1) ¥ TR HEd Fgaaar foteh surersn s afid.

(2) T-FIERAH@ TaagrEt STrEieHT g aftd.

(3) Y., = AR FeAVER Ao afd.

(4) SRS UsEide wiadardt STEEeET gEfhend afid

The eminent journalist Dilip Padgaonkar passed away recently. He headed the
committee appointed by the Central Government in 2010. What was the purpose of
that committee ? '

(1) To collaborate with the French Government for anti-terrorism activities.
(2) To design a roadmap for peacein J & K.

(3) Welfare of the CRPF Jawans. | ,

(4) To design a roadmap for peace in the North-East States.

98.

Wf&2-7 (GSAT-7) 1 ufeet A1eet Juge, ITUE Fea1 yafia Foam e ?
(1) o me 2013 (2) Wgart 2011

(3) A 2014 (4) w0 R T
GSAT-7, the first Navy user satellite was launched on

(1) August 2013 (2) February 2011
(3) August 2014 (4) None of the above

99.

‘T TG 5 T §TH W ARG TR TGH B AT ? |

(1) 3g i (2) Ty yam fE

(3) . e faw (4) *d. U4

Who is the author of the famous book ‘One Life is Not Enough’?

(1) Anand Sharma (2) Vishwnath Pratap Singh

(3) K. Natwar Singh (4) KC. Pant

100.

AT A5 I 2016 76 U G 0 3.
(1) TfE Wt @ & TR (2) u=Eft qER

(3) TR R (4) vETRE TR

~ 8Saina Nehwal has been awarded the following in 2016 :

(1) Rajiv Gandhi Khel Ratna Award  (2) Padmashri Award
(8) Padmabhushan Award (4) Padmavibhushan Award
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(8) TegfEruel fifke Faem ffine anfle F=2 sm (@ 7%) TR, TegfREeafife Iaaie a1
FHEE F= HIH Hour § F OIS I FS IR, W TS FES T ATTER INGIATER A

- I weed wlamed g AT siiey Fuaemae Afufem-s2” IHie SgdqEn Hran
mﬁaﬁwﬂm@mmaﬂ/ﬁmwwmmmﬁ%
T B,

(9) T TEURFEE T fafte Foeh Io GueAER g € TR et WETREER
US W @EE o, mﬂﬂmmwmwﬁmmﬁ%mml
THAgETES 1 fraean W@ s aravaE .

q. . 201.

. . 201.

g ST
Tl 916 e FoAEdt Bt Heta: vae w2
(v Tarf g TR 2 ey R
@) T THEEA T @)  TiaTeEEe TEd
T TR A IR (3) Ton qweled a7 o . WS O e 3w (3) ade.
TeE ERAGT T ZOIETﬁﬁEWW“@”%?@EWWW
Trafaw oTawas TR,

® @ @ O

mmﬁmm@%ﬁﬂammgﬂmmmmwmgﬁm
RSl S IR s ages qoivn Swiihd wEd qrEaTe. gt
mmmﬁaﬁﬁ:wﬁﬂﬁamm&ﬂmﬁ
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